= A
N = 0 &8 AFH Y & A AN
20128 = 2 3] A H A=s=21s ~ SU2sS
SN ABEIS
Ha: FOMESY(ABE2IS)

Sl FOXAMESY (9@ )
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
N 294,647 290,777 3,870
ZoMdEH2G(ARE1S) 201,118 201,218 A 100

ZOIXKINEHSY 38,140 38,240 A 100
=oIXKMEHE2Y 34,540 34,640 2100
405 KH&HE S H| 3,200 3,300 2100

01 XA 2 E F S 3,200 3,300 2100
OFgeaH HHzed SSFAME WA

3,200,000 3,200 3,300 2100

HY2AAH (M2EIE) 93,529 89,559 3,970

ol 2% A 54,329 50,359 3,970

Ol 24 H 54,329 50,359 3,970

101 124 H 54,329 50,359 3,970

01 84 30,841 29,393 1,448

GESnF=y=Fa= 30,841 29,393 1,448

—-52 11,0028 %12 %28A| 2F+ 128 3,697 3,524 173

-62 90,3832 x2 x28A| 2tx 122 6,306 6,010 296

—-72 8,476 x3% x28A| 2+ * 128 8,544 8,143 401

-82 7,609 x2% x28A| 2+ + 122 5,114 4,874 240

—-92 6,878 x2 x28A| 2Fx 122 4,623 4,405 218

—Jlssz 7,609 x 19 #28A| 2+ <122 2,557 2,437 120

03 RIAHA22RE S 23,488 20,966 2,522

OF A2l o121y 21,075 18,828 2,247

-J|=2 1,419,680 x 1 « 122 17,037 11,878 5,159

— &3 0 0 3,960 A 3,960

—Mxtag 50,5602 %12 18 911 623 288

— e EASE 0 0 720 AT20

= P Y= 0 0 480 A 480

—zlesd 9,480 x 1 x15A| 2tx 1224 1,707 1,167 540

— AE S| 709,8402 23] 1,420 0 1,420

OFAMZE BEE 2,413 2,138 275

— MBS 21,075,000 *24.4/1,000 515 460 55

- 1228 21,075,000 *14/1,000 296 264 32

— 2092 21,075,000 *45/1,000 949 848 101

—ALEE 21,075,000 *29/ 1,000 612 531 81

— Lo QU E 612,000 65.5/1,000 41 35 6




N = 0l & At & Ml A

2N 4BES
HE: FOMERY(HBESE)
et FUXXMESY EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
AL 223,945 204,567 19,378
ZOMEHSY(ABES) 159,021 140,971 18,050
FOIRR ME Y 58,850 40,800 18,050
FOUNNEEHZY 22,090 24,040 21,950
201 et HH| 21,390 23,340 A 1,950
01 At 22l bl 21,390 23,340 A 1,950
OFH0IRA ZA+Y 6,450, 0002 6,450 8,400 A1,950
=R 28,000 8,000 20,000
307 £I2+0| & 28,000 8,000 20,000
04 SIS AR X 28,000 8,000 20,000
OBHSH(NBZXSHI)(HYH)
20,000,000 20,000 0 20,000
el H(A2=2S 64,924 63,596 1,328
CER-EI* 28,284 26,956 1,328
28,284 26,956 1,328
o124 | 28,284 26,956 1,328
24 28,284 26,956 1,328
Oxn2L4Y 28,284 26,956 1,328
—53 11,0028 * 12 %28AI 2t 122 3,697 3,524 173
- 62 9,383% %23 *28A| 24122 6,306 6,010 296
-73 8,476% «32 x28A] 2+ +128 8,544 8,143 401
— 83 7,609% %23 28 Al 24+ 122 5,114 4,874 240
-92 6,878% %23 28A| 24122 4,623 4,405 218




==
N & o & AF & H Al A
BN AANES
M FUHAHSIG(AAMES)

SRl T Atz (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
ENUNE = 495,207 491,832 3,375
FUHH2E(AMES) 401,970 402,550 A 580
M &k2t 2| 284,070 284,650 A 580
EAr2te| 279,920 280,500 A 580

401 AIEBIZ 28I 142,110 142,690 A 580

01 A& HI 142,110 142,690 A 580
OXNSLEAEININEII A ¥ L2 I EXISA

4,370,000 4,370 4,950 A 580

HY2IZH (AAES) 93,237 89,282 3,955

el 2g Al 54,037 50,082 3,955

ol Al 54,037 50,082 3,955

101 124 dl 54,037 50,082 3,955

01 2= 30,549 29,116 1,433

Oozuz=ex¢ 30,549 29,116 1,433

— 5= 11,0023 x1H x28A| 2t + 12 3,697 3,524 173

— 6= 9,383 2 *28Al 2tx 123 6,306 6,010 296

-7 8,476 2 x28Al 2tx 128 5,696 5,429 267

— 8= 7,609% 3 *28Al 2t+ 123 7,670 7,311 359

- 9= 6,878& x2H x28Al 2tx12& 4,623 4,405 218

—Jls8s 7,609% 1 H «28A] 2t+ 12 2,557 2,437 120

03 RIAHAZ2 B = 23,488 20,966 2,522

O&EAt2tel ezl 21,075 18,828 2,247

—Jlas 1,419,680& x1H x 123 17,037 11,878 5,159

— o0z 0 0 3,960 A 3,960

— Q| x=g 50,5603 1«18 911 623 288

—HYsSA=E 0 0 720 AT20

— 2543 0 0 480 A 480

—ZU2RE 9,480 *1H »15A 2tx 12 1,707 1,167 540

— ZE S| 709,840& x23| 1,420 0 1,420

O3 M2 EEE 2,413 2,138 275

— M EE 21,075,000& x24.4/1,000 515 460 55

—N82E 21,075,000& *14/1,000 296 264 32

— 30z 21,075,000 *45/1,000 949 848 101

—Ad22E 21,075,000& *29/1,000 612 531 81

— LA RYEH 612,000 *65.5/1,000 41 35 6




> A
N & 0l & Av S Z M A
2AM: AAE3S
FH: FUHAHSIG(LAHR3S)
el A el CERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HI RS2
ENUNESRES 341,304 319,765 21,539
SR HE 2 (AA23S) 241,720 224,220 17,500
X &2t 2| 75,530 58,030 17,500
A2l 70,860 53,360 17,500
401 AIEHI L 20 21,100 3,600 17,500
01 A& HI 21,100 3,600 17,500
OFA E==Z At 17,500 0 17,500
— AAE38 EA E=Z A 2,500,000& 2,500 0 2,500
—2MZ2 SSMSHE =S A
15,000, 000 15,000 0 15,000
HH2IZH (2 AE3IS) 99,584 95,545 4,039
el 2g Al 56,524 52,485 4,039
ol i 56,524 52,485 4,039
101 1Al 56,524 52,485 4,039
01 2= 33,397 31,829 1,568
Oxl=z=2=¢ 33,397 31,829 1,568
— 532 11,0023 »1H #28A1 2t 12 3,697 3,524 173
— 6= 9,383& 2 x28A| 2t 128 6,306 6,010 296
= 8,476 «3H x28Al 2tx12& 8,544 8,143 401
— 8= 7,609% x4 x28A| 2t 12 10,227 9,747 480
- 9= 6,878& x2H x28Al 2tx12& 4,623 4,405 218
03 RN AHAA2Z2HE =+ 23,127 20,656 2,471
OSIRACIoHY ol AH| 21,024 18,793 2,231
—Jl=s 1,419,680 x 12« 12& 17,037 11,878 5,159
—d0= 0& 0 3,960 A 3,960
— QX< 50,5603 «1H » 17 860 588 272
—HYsSA=E 0& 0 720 AT20
— 2543 o0& 0 480 A 480
—ZUIZRFE 9,480 1 x15A1 2t+12E 1,707 1,167 540
— G E St 709,840% »23] 1,420 0 1,420
OSlolorl EE R 2,103 1,863 240
—&MHEE 21,024,000% *10/1,000 211 188 23
— 1828 21,024,000& *14/1,000 295 264 31
—=0a= 21,024,000% *45/1,000 947 846 101
—HLLEE 21,024,000 *29/1,000 610 530 80
—LoAINREEE 610,000& %65.5/1,000 40 35 5




N & o & AF & H Al A
SN ges
HM: FOMHSY(HUS)

Chels a2t 2| (&)
SN EE B (BH) - HRAY - BES 0l &F 24 o1& o Hl DS 2
Hel s 224,007 211,045 12,962
FOUHH2Y (HHS) 159,925 153,525 6,400

M &k2t 2| 53,485 47,085 6,400
EAr2te| 48,715 42,315 6,400

401 AIEBIZ 28I 16,400 10,000 6,400
01 A& HI 16,400 10,000 6,400
OFA 2832 4a E=ZA} 6,100,000 6,100 6,500 A 400
OFX&E HEH MZE AX 3,300,000& 3,300 3,500 A 200
O=24ex o JAE 7,000,000& 7,000 0 7,000
HY2IZH (HHS) 64,082 57,520 6,562
el 2H | 27,442 23,440 4,002
oI 244l 27,442 23,440 4,002
101 @14l 27,442 23,440 4,002
01 2=+ 27,442 23,440 4,002
O=lz22aY 27,442 23,440 4,002

— 5= 11,0023 18 x28A| 2t 12& 3,697 3,524 173

— 6= 9,383& x1H *x28A| 2tx12& 3,153 3,005 148

—7= 8,476 3 28Al 2tx 123 8,544 5,429 3,115

— 8= 7,6093 x2H x28Al 2tx 12 5,114 4,874 240

— 9= 6,8783 *3H x28Al 2tx 128 6,934 6,608 326

Jl2 &3l 36,640 34,080 2,560
22 A 12,240 11,160 1,080
201 LB-2gH| 12,240 11,160 1,080
01 At 22l 12,240 11,160 1,080
ORM2EII=ZH 10,800 9,720 1,080

— L Et=ZH| 40,0003 10«12 4,800 4,320 480

— =2l 50,000 10 x12& 6,000 5,400 600

04 dl 14,400 12,960 1,440
202 oddl 14,400 12,960 1,440
01 = LH o4 1l 14,400 12,960 1,440
OgRFAIE0HI 120,000& x10H «12& 14,400 12,960 1,440
=2 10,000 9,960 40
203 YR =2l 10,000 9,960 40
02 It =2 H| 400 360 40
OIS R =&Y 40,000& 10 400 360 40




= A
N = 0 &8 AFH Y & A AN
2A: Jots
HH: FOMHSY(DS)

SRl A2t (e &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Wots 300,214 297,767 2,447
oMY (os) 212,409 213,749 A1,340
THar 22 67,586 68,926 21,340
HALzHe| 63,016 64,356 21,340

401 AlEHIZ =20 46,160 47,500 A1,340
01 Al&H| 46,160 47,500 A 1,340
O A BT A 17,500,000 17,500 18,500 A1,000
OFAN TMBA 13,820,000 13,820 14,000 A 180
OFA 3D X L W2 HME 14,840,000 14,840 15,000 A 160
#HM2HAY (Do) 87,805 84,018 3,787
ol 2 A 51,165 47,378 3,787
ol A H 51,165 47,378 3,787
101 Q1244 51,165 47,378 3,787
01 24 28,038 26,722 1,316
GESnF=Y=Fa= 28,038 26,722 1,316
—-52 11,0022 « 12 x28A| 2t x 122 3,697 3,524 173
—62 90,3832 x2% x28A| 2k * 122 6,306 6,010 296
-72 8,476 x3H x28A| 2+ x 122 8,544 8,143 401

— 82 7,609 x 19 x28A| 2+ * 122 2,557 2,437 120
—-92 6,878 x3 x28A| 2+ + 122 6,934 6,608 326

03 RIAHA22IE S 23,127 20,656 2,471
OOILI0I0 Y Ol A 21,024 18,793 2,231
—-J=2 1,419,680 x 1 « 122 17,037 11,878 5,159

— &3 0 0 3,960 A 3,960

— Mg 50,560 %12 %17 860 588 272

— o SAsE 0 0 720 AT20
—2=JHa2 0 0 480 A 480

— x2S 9,480 x 1 #15A] 2+ + 122 1,707 1,167 540

— YE S| 709,840 12 23] 1,420 0 1,420
Oololory B8 2 2,103 1,863 240

— A E 21,024,000 *10/1,000 211 188 23
==k 21,024,000 *14/1,000 295 264 31

— 2092 21,024,000 *45/1,000 947 846 101
—HALE 21,024,000 *29/1,000 610 530 80

— Lo QU E 610,000 *65.5/1,000 40 35 5




= A
N = 0 &t A AN A
S om3s
M ZOMEHSY(AD3E)
Chel: FolMEx e (s ®9)
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" HlnE2
o m3s 269,675 269,543 132
FONHSY(HB3E) 176,753 180,528 A3,775
FoMER 95,030 96,230 A1,200
Ay 11,250 12,450 A 1,200
201 L2 H| 9,480 10,680 A 1,200
EEEE 7,400 8,600 A 1,200
OZZR2 < AAl 7,200 8,400 A1,200
—QIUMROEE S SHES B
6,000,000%! 6,000 7,200 A1,200
FOIRX ME Y 05,820 27,260 A 1,440
FORRMEHSY 22,220 23,660 A 1,440
201 LBr2 2 H| 18,170 19,610 A 1,440
01 A2 el 18,170 19,610 A 1,440
OZCIRA S 3]0 & A &g
30,0009 252 + 122 9,000 10,440 A 1,440
At zrel 55,903 57,038 A1,135
= AbR 2l 50,893 52,028 A1,135
401 AIE B2 20l 20,660 21,795 A1,135
01 A&l 20,660 21,79 A1,135
OROHQl O AL & |2 A 8,780,000%! 8,780 9,283 A503
OCI2 = 394 HTD A 11,880,000 11,880 12,512 632
HN YA (R3S 92,922 89,015 3,907
ozl e gAY 53,722 49,815 3,907
o1 24| 53,722 49,815 3,907
101 Q1 24 b 53,722 49,815 3,907
01 24 30,595 29,159 1,436
OxBIRLY 30,595 29,159 1,436
—52 11,0029 %12 %28A| 2 * 122 3,697 3,504 173
—62 9,383%1 «2 2 #28A| 2t %122 6,306 6,010 296
-72 847621 x3% 28A| 2t %12 8,544 8,143 401
—82 7,600% «2 2 %28 A| 24 %122 5,114 4,874 240
—9z 6,878 x3% 28A| 2t #1228 6,934 6,608 326
03 2| HA2ZRE - 03,127 20,656 0,471
OBIQIoHY 01| 01,024 18,793 2,231
—Jl=a 1,419,680 *12 x 122 17,037 11,878 5,159
N E ogl 0 3,960 A3,960
—oixtay 50,5602 «19 «172 860 588 272
— oA Y og 0 720 AT720
—azjaaz ol 0 480 480
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EEHEEE
M HH2ALH(A23S)
e EIEEXE CERED
SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl DS 2
—XU2FE 9,480 1H »15A 2tx 128 1,707 1,167 540
— ZE S| 709,840& x23] 1,420 0 1,420
OolRolor Ed & 2,103 1,863 240
—&THEE 21,024,000 *10/1,000 211 188 23
—J1E2E 21,024,000% *14/1,000 295 264 31
— =0z 21,024,000& *45/1,000 947 846 101
— AL EE 21,024,000% *29/1,000 610 530 80
— LRI RAEH 610,000& *65.5/1,000 40 35 5




= A
N = 0 &8 AFH Y & A AN
2A: sSUIS
H: FOHEHSI(SUH1S)

Sl FOXAMESY (9@ )
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
s1s 259,389 295,605 N36,216
ZOIHMEH2I(SUIS) 171,630 211,630 A 40,000
ZOIXKINEHSY 49,700 89,700 240,000

OlE0E SN 29 0 40,000 A 40,000
201 2Bt 0 3,600 23,600

01 AF2 22| H 0 3,600 A 3,600
OOlEtIE TAHZ 2% S22l (00l Ak,
SW1s) 0 0 3,600 A 3,600
405 KtHabE S| 0 36,400 A 36,400
01 XA 2 E FH SH 0 36,400 A36,400
OOIE0IZ TAHZ 2% SEPA(H00, &
Wis) 0 0 36,400 A36,400
HESAAH (SUIE) 87,759 83,975 3,784
ol 2% A 51,119 47,335 3,784

ol A H 51,119 47,335 3,784
101 Q1A H 51,119 47,335 3,784
01 84 27,992 26,679 1,313

OESnF=y=Fa=" 27,992 26,679 1,313
—-52 11,0028 %12 %28A| 2F 129 3,697 3,524 173
-62 9,383 x2Q x28A| 2+ + 122 6,306 6,010 296
—-72 8,4762 x2H x28A| 2k x 122 5,696 5,429 267
-82 7,609 x3 #28A| 2+ + 122 7,670 7,311 359
—92 6,878 x2 x28A| 2t x 122 4,623 4,405 218
03 2IAHL22IE S 23,127 20,656 2,471
OoIAQoIoHY Q1Y 21,024 18,793 2,231
= 1,419,680 x1H « 128 17,037 11,878 5,159
—&02 0o 0 3,960 A3,960
— R 50,560 * 12 x 17 860 588 272
— eI SAI=E 03 0 720 AT20
—2=Jta2 0 0 480 2480
—zl2HY 9,4802 x 1 *15A| 2Fx 122 1,707 1,167 540
— HYHE S| 709, 8402 *23] 1,420 0 1,420
Oglgolotly 282 2,103 1,863 240
— AT EE 21,024,000 10/ 1,000 211 188 23
—n8YE 21,024,000 *14/1,000 295 264 31
— 200032 21,024,000 *45/1,000 947 846 101
—HALE 21,024,000 *29/1,000 610 530 80
— Lo QUL 610,000 *65.5/1,000 40 35 5




N &

Of & AF & & A

A

2AH: sU2S
M FUHAHRIY(SU2S)

SRl T Atz (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
S22 262,809 260,507 2,302
FUHH2ZE(BU23) 198,422 197,422 1,000

Hak2t 2| 34,592 33,592 1,000
EAr2te| 29,782 28,782 1,000

401 AIEBIZ 28I 6,642 5,642 1,000

01 A& HI 6,642 5,642 1,000
OFAHY B2 1,000, 000& 1,000 0 1,000
HE2AHU (BU2S) 64,387 63,085 1,302
e 2 gl 27,747 26,445 1,302
oI 244l 27,747 26,445 1,302
101 @124l 27,747 26,445 1,302

01 2= 27,747 26,445 1,302
O=lz22a4 27,747 26,445 1,302

— 5= 11,002 x 1 x28A| 2k 128 3,697 3,524 173

— 6= 9,383& x2H x28Al 2tx 128 6,306 6,010 296

—7= 8,476 2 x28A] 2tx 123 5,696 5,429 267

— 8= 7,609% «2H x28Al 2tx 12 5,114 4,874 240

— 9= 6,878 3 *28Al 2tx 12 6,934 6,608 326




